Warm Up

Evaluate the following without using the trigonometric functions on a calculator:
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Finding Angles Using a Calculator
*** Must be in DEGREE mode ***

sing 207660 X | x c0s @ =-0.829]
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cot @ =2.1445 csc @ =-1.0642



Finding multiple angles for any given trigonometric ratio...

#l. cos§=70.5736 ,0°< 8 < 360° g
@5 557 % @y
mn T ) N !

/ T~ gohe ’—\
"/r:"“‘H~ be Caldalape >N .

%‘MH 0=)2s ( @) ( >
(9=935°(u3) 3
(B¥=ss qz,3)

(252350

How can equivalent reference angles be created in any quadrant?
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#2. sin@ =-0.3420 ,0°< O < 360°
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Determining multiple angles from a given trigonometric ratio...

This diagram will summarize everything...
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#3. cot® =-1.1918 ,0°< O < 360°
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#4. cos® =0.9659, 0°< @ < 360°
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Try This Onelll
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Check Up

Determine all possible angles that satisfy the conditions below:

. sinx = —0.4695 ,0° < x < 360°
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. secx = 1.1223 ,270° < x < 360°
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